19'-6" Limits of guardrail transition, TGT

thrie-beam transition details.

1. See Standard Drawing E 601-TBGC-01 and E 601-TBGC-02 for

2. See Standard Drawing E 601-TTGT-02 for transition connection

detail, timber post detail and timber block detail.

Two 1" @ holes through 3-10 2" i 35pa. @ S1YF =94 L7 I 63" NOTES:
each rail tube. Extend 8" wide %
€ End rail post— -
bottom faces of ube. i conc. curb P /8 x 8" timber posts (typ.)
| ! | T
o T || /—8" x 8" timber blocks (typ.)
 —— - ~ 1 1
Connection/ _/ —— ; ' ' | f
Deflector Plate : 1-0 | 1-0 | |
Thrie beam LEnd of R.C. end parlnel ‘ N . . ‘
terminal connector Two 7'-0" sections of thrie beam, | W-thrie beam transition rail | W-beam rail section
I I

one set inside the other

Two 5/8" x 2" std. button head
bolts, with rectangular plate
washers, round washers, and
recess nuts through rail
sections at each post

|—>-B

sections (Two 12 ga. elements)

PLAN

Twelve 5/8" x 2" std. button
head bolts with round washers
and recess nuts at 2 posts

Two 5/8" x 2" std. button head bolts

One 5/8" x 2" std. button
head bolt with rectangular

plate washer, round washer,
and recess nut at each post

with rectangular plate washers, round
washers, and recess nuts at each post

INDIANA DEPARTMENT OF TRANSPORTATION

DETAIL A |Eight 5/8" x 2" std. button
i head bolts with round
: = : , washers and recess nuts
< ( '°° !: —=— =) T I 1 :l
A e P T3 : — = —=s—tH—
— 5 £5 2 E e = =03
= : 2 : | o ?I W-beam
| | ! | back-up plate
L ATA AT %1 | | gl || 51| | | ik
_ al s & 11 g1 I gl
Connection/ ! 113 sl | I al 'y a
Deflector 3 e X! AN Y R e &gl 1l
Plate ol ol ! 8|1 ® N S
A I TR 1 |1+ S|
— | — a a
S g ! 1 N i
gL v e gl 8 a1
=T = e El_ 1 1 El
= =

6" x 8" x 1'-10 1/2" wood block
16d Nail

<o
6" x 8" x 6'-0" wood post =
N
5/8" @ x 18" button head
bolt with round washer—— ol s
and hex nut o I =
v 0
L N ~
"—Thrie-Beam &
" . . ¢[>—Conc. Curb
Fe.
| (Y
| (9 2
[ l.- Sl
SECTION B-B

ELEVATION

Four 7/8" x 1" std. button
head bolts, with rectangular
plate washers, round washers,

—=

GUARDRAIL TRANSITION, TGT

STANDARD DRAWING NO.

o

(=]

and recess nuts through
rail sections.

DETAIL A

Drill and tap four holes for

7/8" x 1 1/2" std. button head bolts,
with rectangular plate washers.
round washers, and recess nuts
through rail sections

\\\\\mm,,//

SEPTEMBER 2011
E 601-TTGT-01
/s/ Richard L. Van(Cleave 09/01/11
DESIGN STANDARDS ENGINEER DATE
/s/ Mark_A. Miller 09/01/11
CHIEF HIGHWAY ENGINEER DATE

TR

DESIGN STANDARDS ENGINEER




13/4"

| (BEND LINE)

End of railing tubing cap

;Connection angle A
| Thrie beam

elements

5/8" @ guard
rail bolts

7/8" @ bolts with
washers and self locking
nut or nut and jam nut

| I _; Guardrail
Guardrail T | | —— connection
connection | * || 4 plate
plate ' T | 1
\ ~__ | | o Lo
1 -Thrie beam/ L ] — SECTION C-C
terminal connector /—TOP of curb g P End of curb and 1/8"
10 ga. element ! < A I nd of curb an .
g ¥ A/ R.C. end panel 1/—2-| H: Thrie beam
€ End rail post—= 1'-0" | Connection / terminal
c | Deflector B connector
ELEVATION - TRANSITION CONNECTION vfj;;:f E;g{g
of plate
E 3/8" X 4" X 1'_7" DETAIL A
1‘_7"
1 1/2" 1'_8" 1'_0"
3" 1-21/2" 4" 1/2" 11/2" 4" 4 21/2"
—11/2" ‘—’@ / /
T ' : ; .
M 4 | 43/16" S 2 3516
- 1" Y n [ q-__ e == = 1 k‘_0|
-1 Qﬂ_‘é 11/2" 3/8 ﬂ 313/16" E
3 212 ] Nt |2 3 ® 9 oS
5 o+ - S 313716
2'1"®|—4 | i | 2 T \1 ::::::?\i——— _
112 | | 8 | 91 _ o 4-1"@holes
| s o for 7/8" @ bolts =
1-7 8 13/16" = @ shown thus S
[e)) —
L4"x4"x3/8"x 1'-7"
41 1/2" x 1'-0" x 1'-10"~/ Drill and tap (4) holes
i Galv. Plate for 7/8" @ bolts shqwn
n thus . See Detail A.
1'_6"

vz |
I |

GUARDRAIL CONNECTION / DEFLECTOR PLATE DETAILS

NOTE:

1. See Standard Drawing E 706-BRTM-02 for railing tubing cap details.

8 8
312", | 312" 3120|312
I |

= I = I
1 L
— % N g < ]
& TF 7/8"0 =0
SRS e S =
a R N a~=
= R
~ %
5 N BLOCK DETAIL
© % ©
N
N
N
N
\
\
N
\

L8 8
312 |3y2n 3y, 312
| I
oo]: ] zo]: i
| |
> o ¥
it \7/8"@%{—L 2
holes =

BLOCK DETAIL

TIMBER POST DETAIL

[ditirdddiarddaa 2

TIMBER POST DETAIL

FOR THRIE-BEAM FOR W-BEAM
GUARDRAIL CONNECTION GUARDRAIL CONNECTION
—C
End post R g
End of | ANES e -"r x
rail cap ‘ ' -
af il I
I = i/ N
" " | ;4;_ 3_;_ 7/8" x1 1/4" | Ol &
3/4"x11/2 }—< &l @ slotted holes al o
slotted holes NE A zl; o
uBEl Vi Y

L5"x3"x1/4"x1'-10 3/4J

}

CONNECTION ANGLE A

INDIANA DEPARTMENT OF TRANSPORTATION

GUARDRAIL TRANSITION, TGT

STANDARD DRAWING NO.

TR

DESIGN STANDARDS ENGINEER

SEPTEMBER 2011
E 601-TTGT-02
/s/ Richard L. VanCleave 09/01/11
DESIGN STANDARDS ENGINEER DATE
/s/ Mark_A. Miller 09/01/11
CHIEF HIGHWAY ENGINEER DATE




	E601-TTGT-01
	E601-TTGT-02

